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3x+4y=-23
2y-x=-19

What is the solution (x, y) to the system of equations

o 3N+ 4y = 23
S 36 A=

D) (9,-6) -3X t 6 2557
3N &Y = 35
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glx) = 24
For the function g defined abov

and g(4) = 8. What is the value
@8 3(4) o\?ﬂ 8
C)—1

o g4)=al-ukag =8

et y= a[x—z' + 5

| ‘1:(0)whev\ x=h
whak is g ohen ko127 af 1<3]+§

Q[ S'-77‘ +3=(0
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b=2.35+0.25x

c=1.75+0.40x
In the equations above, b and ¢ represent the price
per pound, in dollars, of beef and chicken,
respectively, x weeks after July 1 during last
summer. What was the price per pound of beef when
it was equal to the price per pound of chicken?
A) $2.60
B) $2.85
C) $2.95

D) $3.35




